- 3 7 9V3 J33. . L
Example 3 Simplify: a. 7 b. \/g € sy d. 35423

; 3 _3 N5_ 3v5 _3v5
Solution . NG AR P ;
b\/2=ﬁ:;f_=i\f V72 _ Vi
"Nsg VB 2v2 V2 V2 2(V2p 4

9V3 _ 9V3 9\/§.IQ= 9VI8 _ 9V9-2 _9-3V2 _ 9V2
V2a V6 2V6 Ve  2(Vey 2.6 2:6 4

[ 2. I=Vv8=2v2

L
&‘
ﬁ

Example 4 Multiply. Assume that all variables represent positive real numbers.

a. 3Vab’(-2Va)  b. Vr(5—-Vr)

Solution a. 3Vab*(—2Va) = 3(—2)Vab* - a = —6Va*h?* = —6ab
b. Vr(5 -V =5Vr—(Vr?=5Vr—r

[
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Oral Exercises

Simplify.

1. V25 2.% 3.% 4. V3 -\3 5.V3-V6
. Vig V48 V5 2

6. V3-V12 7. 5 8. 5 9'\/E 10.\[7

Written Exercises

Simplify. Assume that all variables represent positive real numbers.

A 1. 5V3-2V3 2. 4V7-2V7 3.V3-V3-Va 4. V5-V5-V9
5. 2V5-V7 6. 6V2-V5 7. V3-V27 8. V5-V20
9. V11-V44 10. V7 -V35 11. 6V72 12. 9242
3. [ 4. [18 8. [2 7, J3
13. \/; \/; 14. \/; 4 15. \iT° V32 16. \/; 28
3../8 4. /10 3., /1L 2. /12
17.\/;\5 18.\/; - 1. §/35 42y 20. 25413
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21. \/}7—2 \/% 22. \/% \/% 23. 67‘% 24. %
25. 3\/4;8 26. 739 27. % 28. %}
29. V5(V5-2) 30. V7(6 — V2)
31. 3V2)(—2V8)(3V2T) 32. 3V5)(—V10)(V27)
B 33. 4Va?h)(3Vb) 34. 5Vmn®)(—2Vm)
35. (—xVay)(yVxyd) 36. (—rVrZs)(—sVrs)
37. Vm(Vm® + 6) 38. Vx(VX +7)
39. (V50 (V20)(3V10x9) 40. (V3a)(V2a)(2V6a?)
41. V32 -V2x - Vix 42. V27 -V3n-V5n
43. (2V5x)? 44. 2n(\V7n)?

X, [ 3¢, |4
. 3x\/: y 46. 393, \/:

C 47. V3a(V12a - 2V38d) 48. Vox(V3x — 4V8x%)
49. 3V8m3(2V2m — 5V8m%) 50. 2V6x°(3V8x — 5V3xY)
51. 2V 3y%)? 52. (5V2xd)?
53. (V10xy)*(xV5x%y — yV 10xy?) 54. (V18ab)*(aV3a’b + bV 5ab*)
Rationalize the numerator.
Somns Vs _ V5-V5 _ (V5)? _ 5 < no radical in numerator
P Vi NI VT VB
V11 V2 V6 V7 V19

L .= . — L 59, —=

55 G 56 y - 57 o 58 oy y-

SRR L R TSR
Mixed Review Exercises

Solve
1. X2 =169 2. 252 —200=0 3.2522—-1=15
L, 1_1 5_2 8b—5 _ 13
T332 % y 6. Sp—2~8
Simplify.
7. 19x +2Bx —4) + 5 8. 12a+7— (8a—17) 9. 42b — 6) — 5(b — 4)
10. (—5c%d)(—4cd*) 11. ~4m+3+ 1lm—4 12. x(x +2) + (x —H2x + 1)
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